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SECTION-A

I. {a) Find the equation of the surface satisfying. 4y2 p+g+2y=0 and passing through 3"+ =) and x+3=2.
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{€)  Using Newton Reghson Method, find all positive roots ofthe equation 10]¢™ dt—1=0 with six comect decimals,
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(€] Solvethe equations: (18)
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() Conver the following: N

i) {4 1,6875),, to binary number %
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() Find the function fx, p) which satisfes the Xm equation inside the rectangle (0=x<x 0=y<sa subject
ta the boundary conditions
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(e} Given the valises
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SECTION-B
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ALY A

(4 Avroed, of length 2 &, revalves with uniform angular veloeity @ 10 about a veritical axis through a sneoth joint

at one extremity of the rod so that il deseribes a cone of semi-vertical anghe o, show that @' =3g / (4acosa).

3
Prove alss that direction of reaction ot the hinge makes with I:he.\-'erlii:li an angle ‘“"4[;':"‘“ “] : (1)
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w=xil+ B, v=pi] +8), w=2{1 +1). (1
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{a) Given % =x' 4y, ¥ (0) =2 compuie W02}, W04 and W6} by Runge-Kuita method of fourth onder,
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s by ik, +=rk, + ke
B = Gy = o
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r by 2l (005, ot 2253 )s (oS, 22 Jprs)= 22 - 23708

Lo frf oS Faan }“iﬁ?l.f}; b(es, 25 331025 ) = 25- 94 kozst

rl\-: !-:;. (SR (RN #2 AP
k. = b’fﬂfﬁ Yo+ 2,5—.-:;5.,."-}; u{u;,ﬁJ fo ii‘-‘lﬂ}:gnn?u'_an;‘;i-k
iy - LR

A Ypog = 147203 + 25357793
_""_:, !_;..ﬂi 0633

=) ';I(E:.} = S-4i9)
resml = FH- 7103
desf) = Gorob B3

(b} A The velocity v of 2 particie at distance 2 hw:a.Pnﬁu‘m its path i given by the mible:
afr S0 1020 30 40 50 _BIN

(15
: 47 58 64 65 61,37 AN,

v fifsec

1
Estimate the time mken to rave] e0RDasing simpson’s 3 rule, Conpare the result with Simpaon’s B

rube
sybv: & o la 18 La Fa £
i e\ L =L X sk = TR v s
< VR 2 s3 d¢ &s <) [T
j# _:h j;__ ji :?\,_ ::'f -:"'
(,//—
Sippiee’s 4 Rude
1t

o A (9w (393 s) ¥ H:ﬂa*r«))

lo | 1 I 1 i 1
ol e e e AT L O L T e St
3 [t.-;'*HJH"(fE* ss*ﬂ-) (£L+£'):’

= l-& 8352101 Zec .

W

m e e e e e

Brarch D¥Feoa: :u.mlu,-m'p Ty i Mttt O D11 B0
Pz DH-4SEESRD. SWORIZVIE, HESITITEY |

oo Erwa



W

Ermr;,‘tb 'Ji.' 5 ke

t =2
- [ 4. +?£-r1(y,+?_)+3{j‘+7;}+ S P ]

%10
= s i
P [1 "'—4‘3( )41 -—-‘--]-.— '+l""
£5
- |+064 175 {fffffff
W e paewet Zebl Ethiwale JEN

‘Ir 5",.,\?-‘“ 'y .L
" a ke i
1 s |-06352!

oo bG 31882 -

#L'r:l Cimyp w3
'|.f.w"-_._. .
¥ ?;—Ll B

o

]

P.T.0.



43 of 50

{c] Design an algerithim and draw a flow chart fwﬁmimﬁi method,
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= £ bp‘"ﬂ‘} ~ Xnst P (xR)

__Rz I bih*'}V

ﬁl-;#'b..'t'h e ;
——

step 1
Step 9 Calewdate F(Xe), F(x) £ put fze
If Fex) < &5 priat X, s e et & End

Sfep 3
Loy it Th WlRel= €0 phide ‘s b Moot & e-g
step 51 Tl fexe) FCx) >0, print “jnvakid entsiy d-
e 7-1" Ao 2end
- X XD =X, () —
* x. =
step €1 Puk %3 o o

'1-?“"-?-*"': h— [l] - e, Xy Ehien C.E} » Mo oy lh-"ﬂ"fw;{.!

(18)

] Gt 10106, Eap Fiaor, Mubkeqep Trwed, |1, Mk fues 0, S bl
Wi G 200, Eve Hajaecar fuagar Murie, B P 173000 .
Lot st r F o




Fow ehark

: . ..t & e~d
5{'1’_,? ?‘ : I_E‘ Il—i:']:l) = E' v r}hp\f oy 15 & *
w X, = X edie
step 81 Ty bGA-FEx) <0 F .
put Xa = X3 ﬁ—_a_-ﬂhSH'qb-‘
ctfep 9° = 14|
o5 e Tf 1= N sete sty £ € prod o
Govke. Ko x, tre sek A r...‘. e
& _E.hJ
5"!1_.? o Skep -

Tl LA 2,
E.n
Heudade Fl2ed,
im) a =k ]

1-’&.—4

“rat famepley 00
Lo

e st

“ w0y Aagt

= Ol Baferades Fragar Maris, De v rioome
IR P R 1 i B

e i Orboa 050 DL Top oo, Mekrwyos Baa, D0 Vubis-Gie iy, Tl ki TI DLW

Al ' i

P.T.O.





